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MODEL QUESTION PAPER

REASONING AND GENERAL AWARENESS (RAGA)

Q1. T=F EW, [ TR @ Rt A &g, B H A o R @ 9anT fha ST § 2

Which type of waves are used by a ‘RADAR’ for detecting the presence of an aircraft?

(A) & T / Sound Waves (B) =& @ / Radio Waves
(C) I @i / Electric waves (D) T 77 / Ultrasonic Waves Ans: B

Q.2. AWE 2R Bl & SM H = Sl G202 (391 T o1 2
Who among the following Sikh Gurus, was executed by Aurangzeb ?

(A) T= 3@&[ 29 / Guru Arjun Dev (B)T= M B8 / Guru Govind Singh
(C) % T @157 / Guru Tegh Bahadur (D) % A& &4 / Guru Nanak Dev Ans: C

Q.3. ‘I Jereq, for e FEka men e sresl e ® 2

Which Government controlled organisation has its motto ‘Yogakshemam
Vahamyahum’ ?

(A) 9T a9 g1 7 /Life Insurance Corporation of India
BEF RS EajT /Central Bureau of Investigation
(C) Bs1 "reafies {918 ars /Central Board of Secondary Education

(D) YA 22 9 e /State Bank of India Group Ans: A
Q.4. F1 ‘TAR Sl Bl g BT AT % |
is called ‘the land of thousand lakes’.
(A) Pareareis / Switzerland (B) = / Sweden
(C) ®1=1 / Canada (D) fFci= / Finland Ans: D

Q.5. ¥ 302 7 e & AfEr, e § i fhad um e 2
Who among the following has been vested the exclusive power to grant pardon in
case of death sentence.

(A) 9T & 72Ul / President of India

(B) YFd & YLTHAT / Prime Minister of India

(C) T & eI =TT / Chief Justice of India

(D) 9T & AT Fa / Solicitor General of India Ans: A
Q.6. ‘Tl fF 939 A IE WA ¢ 2

Of which of the following states, is ‘Garba’, a famous folk dance ?

(A) 3 9291 / Andhra Pradesh (B) 5 / Gujarat

(C) [4&r / Bihar (D) 9T / Punjab Ans: B

Q.7. HRH & (6T 99 B g T, HATdRaTel M fSH-a1e @l e g JFT 747 ?

By which of the following Special Task Forces of USA, was the terrorist Osama Bin-
Laden, searched & killed?

(A) 79T / Marines (B) &1 / Hawks
(C) 91 A1 / Navy Seals (D) %I / Foxes Ans:C
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Q8. = 2B _ .5 T Al a A b F AW T FAT |
T+43

Find the value of a and b, if

54243 b3

———=a+
7+43
(A)a=-11,b=-6  (B)a=-11, b=6 (C) a=11, b=-6 (D) a=6, b=11 Ans: C

Q.9. ZRIHl x AR y & 1 &l &A1 778 [ & | U TSl x H y % @l gl 84 fBHI/Av2
%I I H qAT A9El G AT 56 [RHUETEl @l 91| H qF &l & | I JEl & [,

TS bl 3 a1 [hHI/E02T § Sid difed |

Distance between two stations x and y is 778 km. A train covers the journey from x to
y at a speed of 84 kmph and returns to x with a speed of 56 kmph. Find the average
speed of the train (in kmph ) for the whole journey.

(A) 67.2 (B) 70 (C)68 (D) 72 Ans: A

Q.10. 50 UMl T A1 36 & | a12 H UdT Il foh Udh Y&T0T 48 &l Tl 7 23 o forar 731 2 |
Y21 BT Hel "1 S il |

The average of 50 observations is 36. It was found later that an observation 48 was
wrongly taken as 23. Find the correct average of the observations.
(A) 35.2 (B) 36.1 (C) 39.1 (D) 36.5 Ans: D

Q.11. T AT &1 AT 136 & | TS UBall AT A AT A 39 2:3 ¥ AW 70 AR A0
HIAT HT A 5 : 3 7 T g HEA 7 HA |
The sum of three numbers is 136. If the ratio between first and second is 2:3 and that

between second and third is 5:3. Find the second number.
(A) 40 (B) 48 (C) 60 (D) 72 Ans: C

Q.12. 45 A, Uh &M B 16 BT § &7 qad £ | 6 &7 &M &1 & @@ 30 A A o
B A | AT AT I, a1 g3 HE FAG &7 H [ [ AW @ ?
45 men can finish a task in 16 days. After 6 days, 30 more men join them. How many

days, will they all, now take to complete the remaining task?
(A) 6 (B) 8 (C)10 (D) 12 Ans: A

Q.13. 3 &, 67 7T T 10% a1fies == &l & F, 3 3| & dhglg A AN FEN0 AT
&M 3T, 31 &M ?
Find out the sum, for which the difference, between the compound and simple
interest, for 3 years at the rate of 10% per annum, would be ™ 31?
(A) Rs1500 (B) Rs 1200 (C) Rs 1600 (D) Rs 1000 Ans: D

Q.14. g& AT AT ST BT 17 8,12, 20 AT 25 F fwiford &7 W Uieh 39 # 5979 T&a 21 |
Find the smallest number, which when divided by 8, 12, 20 or 25 leaves a remainder
5 in each case?
(A) 595 (B) 605 (C) 1205 (D)1195 Ans: B

Q.15. UF A AT AT & 75% 9 &Il & | AE Il AT § 20% i Jg &1 A =4t 7
10% @ gig &1 a1 I8! a9d 4 % Jhg Fd B |

A man spends 75% of his income. If his income increases by 20% and his
expenditure increases by 10% then find the % increase in his savings.
(A) 40% (B) 30% (C) 50% (D) 60% Ans: C
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AT 51 BT |
Find the odd one out.

(A) FRTST 2000 /Mirage 2000 (B) T1E-30 MKI /Sukhoi-30 MKI

(C) fr1-29 /MiG-29 (D) fr1-27 IMiG-27 Ans: A
[T S @iy |
Find the odd one out.
(A) (B)
-\“‘i\;g!{{",ﬂ.

(C) N (D)

gt

\?&/ S

e S Ans: D

e oR¥dT 2 AT ‘786 @l 37 ‘study very hard’, ‘958’ & 31 ‘hard work pays’ ¥
‘645’ &1 31 ‘study and work’ T T 3T BT AT ¥ ‘very' &l &2 Id H |

If, in a code language ‘786’ means ‘study very hard’, ‘958’ means ‘hard work pays’
and ‘645’ means ‘study and work’ then find the code for ‘very’?

(A) 8 (B)7 (C)6 (D)9 Ans: C
e = g a quf &1 |

Complete the following number series.

1, 4, 2, 8, 6, 24, 22, 88, _ .

(A) 90 (B) 89 (C) 160 (D)86 Ans:D

Teh GO0eT, § Udh B 4 I Jel I3d7 & (o4 4 3 I [ohd 9 I Tad 3o & g 1
3 FET | A IAT FA1 75 9T B A AT FA 125 3% U (U A 3% 51, Fel B
foha T U9AT Sl T S @ |

In an examination, a student scores 4 marks for every correct answer and loses 1
mark for every wrong answer. If he attempts all 75 questions and secures 125 marks
then find the number of questions, attempted correctly.

(A) 35 (B) 40 (C)42 (D)46 Ans: B
21 TE AR § q«d HE 5 & | 5 [8 [7
Find the missing number in the given table. 11117 | 15
21133
(A) 29 (B) 31 (C) 28 (D) 33 Ans: A

IV AR A, B,C I D AT BT & & | A 3I¥ B ABER ¥ | AC D & 2 IaA¥ &1 317 &
q&T A &1 48 919 @l 3T 21 Al [hFeT 48 aferr &l AW & 2

Four persons A, B, C and D are playing cards. A & B are partners. If D is facing
North and A is facing West, then whose face is towards South ?
(A)C (B) B (C)D (D) A Ans: A
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Q.23. &Y : S & ©9 § garaw faswed & 997 B |

Direciton : Choose the best alternative as the answer.

‘T § Eam AT |

Danger always involves .

(A) < /Enemy (B) el /Attack (C) =X [Fear (D) @ergdr /Aid - Ans: C

Q.24. TR + &l T +, + B AT -, - B HT x AT x B AT + & AT 8+2+3 - 4x6 & I =9
& |
Evaluate 8+2+3 -4x6, if + means +, +means -, - means x and x means +.
(A)O (B) 1 (C)-2 (D) 3 Ans: C

Q.25. =@, qaidl AR U & FIE & drd Fel TG I arell 99 AT B q1 8 2

Which of the following Venn diagrams, depicts the correct relation among Doctors,
Lawyers, Professionals?

(/_‘-}‘rﬁ\\
TES Do 0 @ o @)

Ans: A
A T 1T 9o 9= (T3 G 26-30) H, TR @l A, B, C 791 D § & I8 ey gty St 159
& T T B QU HA § |

In each of the following Question (Q. No. 26-30), find the figure from the Answer
figures A, B, C and D which would complete the series given on the left side.

A B Cc D
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